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ENGINEERING PHYSICS

Paper : PH 101

Full Marks : 1OO

Time : Three hours

The flgures in the margln lndlcate
full mrzrks for the questl.ons.

Answer ang flae questions.

1. (a) Prove that the curl of gradient of a
scalar function is always zero. 5

State and explain Gauss's divergence
theorem. 5

(b)

(c) If A - ir' + jsxz2 - tczxz and

E = ixA + !2yz + kgzx, find the

divergencesof A and E. 3+3=6

Write the
divergence
function.

(d)
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(e) Write a short note on Black Body
radiation. 5

(f) A steam engine delivers 5.4x108J of

work per min and services 3'6 x lOeJ
of heat per min from its Boiler. What is
the efficiency of the engine ? 3

Or

An electronic heater supplies heat to a
system at a rate of L OOW.If the system
perform s work at a rate of
7 5J/ s, at what rate is the thermal
enerry increasing ? 3
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